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MV-CA050-10GM MV-CA050-10GC
500 S1REK 2/3” CMOS F3KRAKM Tk i AR

CMOS, 2R

Sony IMX264

3.45 pm x 3.45 pm

2/3”

2448 x 2048

24.1 fps @2448 x 2048

72 dB

40.2 dB

0dB~20dB

H/NBEEEN: 1ps~14ps

IFEBET: 15 us~ 10 sec

XFFBEEIBY. FRIEE. —RELEX

L= P
Mono 8/10/12
Bayer RG 8/10/10Packed/12/12Packed
YUV422Packed, YUV422_YUYV_Packed
RGB 8, BGR 8

THr1x1, 1x2, 1x4, 2x1, 2x2, 2x4, 4x1, 4x2, 4x4

T 1x1, 2x2

XFEKPERG. BEERER

0dB~17dB

Mono 8/10/10Packed/12/12Packed

Gigabit Ethernet (1000Mbit/s) ZE& Fast Ethernet (100Mbit/s)

6-pin P7 £ KIRHLALAFD 1/0: 1 BB EABMRES A (Line0), 1 BEEFBPREHIL
(Linel), 1WA AJALEIEBEES 1/O (Line2)

12 VDC, 7% PoE fHH

3.2W@12 VDC 3.1W@12 VDC

C-Mount

29 mm X 29 mm X 42 mm

#)68g

IP30 (IEFRIEFELIARLLENIERT)

THERE 0°C~50°C, fEEURE -30°C~70°C

20% ~ 80%RH JC/2 %%

MVS 558 =73 32 §F GigE Vision HE

Windows XP/7/10 32/64bits, Linux 32/64bits X X MacOS 64bits
GigE Vision V2.0, GenlCam

CE, FCC, RoHS, KC
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See Far, Go Further
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